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Section-A

(Very short answer type questions)
ST o ITLcHF T (AT
Note: Answer all questions. As per the nature of the question

delimit your answer in one word, one sentence or maximum up to
30 words. Each question carries 2 marks.
10X2= 20
e FHT TAT T I A T I IAL A TATTETL T 068, Teh
TSI AT ATeHaH 50 el H THHITHT ohfora| T T 2 3 Fr ¢ |

1. (1.) PRI 979 HE gid 872
(I1.) === Tohe TTTT T TATHT 872

(111.) FOTE T FeT HEAT Tehaet 52

(IV.) TSt § Fef Tohae 919 31T 82

(V.) T Tt I=et gidt 82

(V1.) &A1 § T T&A5 T 797 4TH 872

(VI1.) 531t = TEemm<r wgreemay foha gra g2
(VIII.) FIHET T ATHT FT FHTLH glal 872

(IX.) TrE 9T T ATHEATH gl ATAT &2



(X.) Toret ATaT it e |AT BT 82
Section -B

(Short answer questions)
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Note: Answer any 4 questions. Each answer should not exceed

100 words. Each question carries 10marks.

e : fohral =T T o I QTS| 3T 9 3L I ATeehan 100 <rsaf
H R IS 7% 997 10 i &7 3

4X10=40

2. Y (0 T Tq=T F TFA19 iy

. ag T gierd 7= T F I9E whd forfed
THTSAT o T1 3T hIH &2 HL0T T GITH F
AT T T HLior ohE TR grar 8?2

Tl =t 37 — A= et o

T 919 | e Ao &1 o= fohar srar g2

T TSI T SATEL0T g d A0 e

qg ATEl o ATH orred
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Section -C

(Long answer questions)
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Note: Answer any two questions. You have to delimit your each

answer maximum 800 words. Each question carries 20 marks.

e : el =TT T o I QTSI 3T 9 3L T Teehan 800 <rsaf
H R IS T 997 20 i &7 g

2X20=40
10. g1g Trerat ux ey forfay
11. faare qg= & fafay fawi s faeqr & avq w2

12. 7 FISAT § HILE A= e s & o Srar 872 fawaw & 9o

FY
13. TBT &t ager 7t ax e oty




